Proton, neutron,deutron in AuAu and ZrZr at STAR 19.6GeV

yulou

yulou



Proton, neutron vs Npart(Tprofile)
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const UShort t mNPart = (UShort t)urgmdDst->timestep(8)->nPart();
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Ncharge, Npart vs mb(Tprofile)

Long64_t iEntry=8; iEntry<chain->»GetEntries iEntry++){
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Jshort t mB_mean=(UShort t)urgmdDst-»event()}->b();
hmNPartvsmb-»Fill(mB_mean,mNPart_mean);
Int t mNcharge mean=8;

UrgmdTimestep* urgmdTimestep mean = urgmdDst->timestep(urgmdDst->numberOfTimesteps()-1};
or(UInt_t iTrack=0; iTrack<urgmdTimestep_mean ->nTracks(); iTrack++){
UrgmdTrack® urgmdTrack_mean = urgmdDst->track(urgmdTimestep_mean ->startTrack()+iTrack};
if(urgmdTrack_mean->q( )
mNcharge mean++;

|}

hmMchargevsmb->Fill({mB_mean,mNcharge_mean);
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Proton, neutron vs Ncharge(Tprofile)
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Proton, neutron vs Ncharge(Tprofile)
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